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INSTRUCTIONS

Read the instructions carefully.
The admission to the exarnination s provisional.
In the event of any information furnished by the
candidate found false/in-correct/incomplete or
llegiblg detected at any stage, the candidature
shall be rejegted.
Please bring the admit card and the acknowledge-
ment card for admission to the examination and
produce the same as and when required.
Please put your full signature in the descriptive
roll-sheet in presence of the invigilator,
Darken thé circles in the OMR  Sheets
completely with Blue / Black ball point pen only.
Write your Roll 'No. correctly in the space
provided.

Do not open this Booklet until instructed.

Do not take any other materials to the examina-
tion hall other than pen and pencil.

Calculators, Shide
Camera ctc. not to

1 pages, Questions

any discrepancy,

minutes and there-

ertained.

itted to leave the

1ination 1s over.

in the examination
hall as per the Udisha Conduct of Examination
Act, 1988,
‘The candidature 1s liable for rejection in the
event of any infringement of the instructions
mentioned above.
The candidates arc not allowed to go to toilet
during the last twenty minutes of the examination.
The 2nd part of the carbonless OMR sheet
should be carcfully detached and taken away by
the candidate after answering all the questions
The original OMR Sheet must be handed over to
the invigilator.
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CHILD DEVELOPMENT AND PEDAGOGY
cooc dmidi-caRe dmiaimgged ? | 1. Which one is applicable for
(A) §8@ 290366a 498 ol Child-centrc-':d cd‘ucation?'
202 (A) Learning is done 1n the
N absence of the teacher
(B). eg@ dad Ayl QIgiEies (B) Teacher teaches with the
dRIQIR @92’B help of teaching aids
(C) d9%, 99 A2ILe 2QI96Q oIy (C) Teacher acts as a facilitator
T ee@ of learning
= o g (D) Teacher directs the pupils to
() é\ﬂ@(@@@ ifllo 9 EHEQI el do the home work and come
(SHHIEHGI_G’GQQG@@EJE > to class
Q6861 VAR QIR F66)I8 @99Ee | 2. Which of the following statements
QIQ 699G gy g6 ? is not applicable for multigrade
N a . teaching ?
(A) 8@ 6g61g 49| goq 6QIFq (A) Teacher should prepare a
@6Q plan before going to the
class
(B) @M6Q 6§61 Q°EHI0Ig 49 (B) There are less number of
Q°SYl @F] 21 teacher in the school than
number of classes
(Q)/ PR 60150 6§6116Q UQ! 69 (C) Teacher will give task to one
2R 6g616Q IO OQIRES class and teach in the other
. (D) Teacher will give task to both
(D) 889 690 65416Q A 696 G the classes and maintain
AG6a o3 G9! QB FRES discipline and sitting at a
s R central place
QOR 2NIRG! I6I] aFIAT @ 7 3. Whg i;; a learncr with special
&) B89 91910e 6 1Iede Q8618 vy .
8o QQE]IOK?OIQ@@W 2 (A) Slr;e ‘v?fho is differt?nt from
3 G ih s peers 1n physical and
B) 2icedR 8 ANTR AR R mental point of view
Q2010180Iq 89 (B) Diffe-rent from his peers in
em : :
(C) c3ReqREMEQTR ATOITOIR vie\c;:,t tonal and social point of
§a (C) Different from his peers in
(D) QU6 A Pedagogic point of view
. oo (D) All of the above
BT R R L |
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Who was the propounder of
the ‘Kindergarten’ system of
education ?

(A) Froebel

(B) Montessorie

(C) Rousseau

(D) John Dewy

Why does a teacher ask a few
introductory questions before
teaching a topic ?

(A) To maintain discipline

(B) Toimpress about the difficulty
of the topic

(C) Testing previous knowledge
(D) All of the above

Which one of the following is
not an objective of achievement
testing ?

(A) Toknow to what extent learn-
ing objectives fixed by the
teacher have become fruitful

(B) To know to what extent the

educand has understood the
subject-matter

(C) To know if the pupil has
acquired the proficiency for
class promotion

(D) To know if the pupil will be
benefitted from a given train-
ing programmc
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What is not there in @ blue-print
prepared for construction of unit
test ?
(A) Method of valuation of the
answers

Relative weightage to the
topics taught

Relative weightage to the
instructional objectives -
Weightage to the different
form of questions

Which one is not necessary for

continuous and comprehensive

(B)
(C)
(D)

evaluation ?

(A) Rating scale

(B) Check list

(C) Progress card

(D) Questionnaire

What type of testing is necessary
to assess learning difficulties ?
(A) Achievement testing

(B) Aptitude testing

(C) Diagnostic testing

(D) Unit testing

Which one of the following is
not applicable for essay type
question ?

(A) Question preparation is
casier

All the learning objectives
can be measured

Thinking ability and depth of
knowledge can be measured

Conduct of examination i
casier

(B)
(C)
(D)
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Which one of the following is not
an indicator of creativity ?

(A) Divergent thinking
(B) Convergent thinking
(C) Originality

(D) Flexibility

By what type of testing, a gifted
child can be identified ?

(A) Diagnostic testing
(B) Unittesting

(C) Intelligence testing
(D) Aptitude testing

Mohit does his homework
regularly. Oneday he was given
some mathematical problems. He
successfully solved one problem
and was encouraged to solve the
next problem. Which of the
following learning laws does it
indicate ?

(A) Law of imitation
(B) Law of motivation
(C) Law of practice
(D) Law of effect
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Which of the following is
different from the other three
instructional objectives point of
view ? '

(A) Discussion
(B) Illustration
(C) Description
(D) Identification

What should a teacher do to
reduce individual differences in
learning ?

(A)
(B)

Use of ﬂeijle Text-book

Special attention on slow
learners

Provide facilities to the
slow learners to learn at their
own pace

(®

(D) All of the above

Which factor influences develop-
ment of the child ?

(A)
(B)
(©)

Heredity only
Environment only

Both heredity and environ-
ment

(D) Maturity

(Continued)
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What is the psychological mean-
ing of learning ?
(A) Acquisition of knowledge
(B) Studying books
(C)
(D) Problem solving

Modification of behaviour

What does a convex learning
curve indicate ?

(A) Atthe initial stage, learning
rate is high and gradually it
decreascs

At the initial stage, learning
rate is slow and gradually it

(B)

mereases
(C)
(D)

Learning rate is constant
Sudden increase in learning
rate

Which one is a sub-law of ‘law
of practice’ ?

(A) Law of effect

(B) Law of disuse

(C) Law of set

(D) Law of selective response
Which one is not an example of
extrinsic motivation ?

(A) Praise

(B) Prize

(©) Recognition

(D) Interest

(Turn over)
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Which one is considered to be
the base of all developments of
the child ?

(A) Moral
(B) Mental
(C) Physical
(D) Emotional

Which one of the following is not
a method of studying behaviour
of educands ?

(A) Free obscrvation

(B) Interview

(C) Testing

(D) Discussion with parents

Which one is not an emotion of
early childhood ?

(A) Curiosity
(B) Anger
(C) Imitation

(D) Sorrow
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What is the order of occurrence
of the following events in the
language development of a child ?

(1)  Babbling
(i)  Meaningless sound

(ii)
(1v)
(A)
(B)
(©)
(D)

Sound consisting two words
Speaking part sentences
(i), (1), (iii), (iv)

(i), (i, (iii), (iv)

(1), (1), (iv), (ii)

(1), (iv), (i1), (iii)

Which one of the following
statements 1s correct ?

(A) Increase in height and weight
refer to development
Growth depends on develop-
ment

Growth is quantitative but
development is qualitative

Development stops at
maturation

(B)
(C)

(D)

Who is the propounder of the
theory of instrumental condition-
ing for learning ?

(A) Pavlov
(B) Thorndike
(C) Lewin
(D) Skinner
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27. giehe gece 0aces duie 88199 | 27. Which technique is more effect;ye
OIg 694 8866891 28Q T9Q0 7 at the primary stage for tcachmg
" | the environmental science ?
(8)” Oheome (A) Observation
(B) ziequoa! . (B) Discussion
(C) 295 (C) Discovery based
(D) eedee (D) Memory based
28, 6ed 886 6069 089 @06e Bee’e | 28.  Which learning is not dependent
Q6% 7 on motor skill ?
(A) ogee (A) Drawing
(B) 916 9@ae (B) Singing
(C) QA6 PIOR (C) Cycling
(D) oRq o (D) Typewriting
29. zed Denier @R 60y 691 8ar [ 29- A child seeing other children
CIRQIQ Z19R @RI | 92 @ QeIe crying started himself/herself
@I ? crying. What type of activity isit”?
(A) 2EIG 20006 (A) Unconscious imitation
(B) w6 2906 (B) Deliberate imitation
(C) QugRl 2qeae (C) Sympathetic imitation
(D) Sane 2gead (D) Ideo-motor imitation
30. 8.9Q Q68 ORI 604 964 (30. What type of evaluation is B.Ed
aeuae ? entrance Test 9
o (A) Placement
(B) andewe (B) Summaive
e (€) Diagnostic
o s it Ty (D) Formative
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weB‘f QIS FIAAT YIS B FRAIR ARRER BIFIFE A6

(C) RQY FOAT SIRQ F19Q IVAER RIS

(D) gaIa YYYR ANREQ FIE6R

58. ‘a8 6 QIR @ael JRQIARI C6a AN 68 TUACH IR ARGl CRY VNG
CRMIQNI | N2l SR 699 YIQ IR FIIRQE 2

(&) ARNIRGIR BRI4 (B) <4igd o901 aQld

(C) MIQLIRR@ VRS RIF Q& (D) 949 @RQIe 0Qe! 9&
59. QGRS FVIAFEA 629 IRG ALAAS QEE ?

(A) 98 @R - 5% gaien

(C) sRigiel (\D% 2AQAIQ
60. 6RSI QUEA 6NET §I0Q 28] JES 99 Y Qi &

4Q U@ IQ @AY 69R FAUA TgQ NLIQ @ ?
(A) ege BY Qe
C) 68 =

(C) 6aing (D eafieqing

SET-B | [16]
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Answer the following questions choosing the correct alternatives given
(Q. No. 61 to 70) :

61. When young learners seem to lose interest in a lesson, the teacher should -
(A) allow them to go out and play
(B) ask them to sleep for a while
(€) tell thema story
(D) ask them to sit quietly for sometime

62. The instructional objectives are written in action verbs, because they can

be
(AY tested (B) read with clarity
(C). understood property | (D) conceptualized

63. Which among the following is not an assessment tool ?

(A) observation ~ (B) checklist

(C) rating scale P) self-assessment
64. When should a teacher design activities for a lesson ?

(A) After selecting the method

(BY~ After formulation of instructional objectives

(C) After reading the lesson

(D) After collecting TLM
65. Which is the receptive skill of a language ?

0“\)/ Listening and reading
(B) Understanding and speaking

(C) Speaking and writing

(D) Understanding and writing

71 (Turn over)
SET-B
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. ‘e ledge of internal
66. Which theory of language learning has found “Knowieet |

o1 : Jnding of learners ?
processes’” crucial to the understanding

(AY The cognitive theory
(B) Stimulus - Response theory
(C) Operant conditioning theory

(D) The classical conditioning theory

67.  Writingis _______ representation of speech.
(A) Morphological (B) Linguistical
(C)” Graphical ' (D) Phonetical

68. Learning of English in India as a second language has been so important

and inevitable since _____ _

(A) Englishis a foreign language

(B) People speaking English are highly honoured
(C) India is a multilingual country

(D) Englishisa liﬁk and international language

69. The alphabetic method, the phonic method, the word method and the
sentence method are associated with |

(A) Listening B) . Speaking
(C) Reading "~ (D) Writing
70. In order to assess the all round development of a learner, the teacher has to

take the help of —
(A) Unitend evaluation
(B) Term end evaluation

(G)/Contlnuous and comprehensive evaluation

|
:
'[i
i

(D) Month end evaluation

SET-B [38]

(COntinued)



Techofworld.in

OTET-P-1/13-11

Read the passage carefully and answer the following five questions
(No. 71 to No. 75) choosing the correct alternatives given :
A hundred years ago, people wondered why one should be concerned
about the tiger. The tiger population was quite large and thick and
widespeard forest cover provided a natural habitat for the animal. But,
over the years poaching and increasing encrochment on tiger’s habitat
have caused the tiger population to decline alarmingly in India. To ensure
its survival, the Indian Government has placed the tiger in the endangered
species list, and also declared it as India’s National Animal.

71. A hundred years ago, people were .. —
(A) very much concerned about the tiger
(B) not bothered about the tiger population
(C) fond of hunting tigers for pleasure
(D) afraid of tigers -

72. The population of the tiger was large at that time, because -
(A) there was enough forest cover for them
(B) people left them undisturbed
(C) people did not hunt them so much
(D) the forest provided natural and easy food for them

73. The tiger population has come down today because of
(A) declining health of tigers
(B) because of their lack of fertility
(C) insufficient availability of food for them

) killing of tigers and deforestation

74. The Government has placed the tiger in the endangered species hist
(A) to attract tourists
(B) tomake poaching of tigers difficult
(C¥ to ensure that tigers do not become extinct

(D) to increasc the population of tigers

SET-B | 39| (Turn over)
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The word “poaching’ usei

(A) hunting illegally
(C) hunting for trading

(B) hunting for pleasure
(D) hunting legally

Read the given passage below and answer the following five
questions (No. 76 to No. 80) that follow by selecting the most
appropriate option : ‘

Rain is very useful for crops. If rain fails, the crops won’t grow. If crops
don’t grow, the people will starve. |

Dark clouds bring the rain. Do you know how these black clouds are
formed ? You have seen water boiling in a kettle and vapours rising from
boiling water when water is heated. It changes into water vapour. This

changing of water into water vapour is called evaporation.

The sun shines over the oceans, the rivers and the lakes during the day.
The water is heated by the heat of the Sun. The water vapours are formed
which are lighter than air and they rise up. Then vapours join together and
they form clouds.

As the vapour rises high, they get cooled. As théy cool down, they change
into water again. These drops of water fall on earth as rain.

Clouds that are carry maximum rain.
(A) very low - (B) dark
(C) thick (D) white

The word ‘evaporation’ means _

(A) Water is cooled dlown . )
(B) Water is heated =
(C) The sunis high in the sky

Water is changed into vapour

SET-B [40]
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78.

79.

80.

81.

82.

83.

SET-B
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Water vapours rise up as they are lighter than

(A) clouds (B) air
(C) water (D) rain
Vapours turn into water drops when

(A) heated

B) cooled

(C) enters into atmosphere

(D) when the sun is high in the sky

The opposite of the word ‘lighter’ is

(AY Brlphier (B) thicker
(C) thinner D) heavier

Questions from 81 to 90 have four possible answers each. Choose

the most appropriate one.

A pair of spectacles . lying on the table.

(AT s (B) are

(C) have (D) has

If Mary —— him, she would be delighted.

(A) had seen (B) sees
(\Qrsaw (D) has seen

Our examination .- on Monday next.

(A) is starting | (B) starts

(C) will start (D) will be starting

[4] ]
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84. My parents went to Rourkela . ———--a car-
(\A()/in (B) on
(C) by (D) through
85. One of my friends _ attended the meeting.
By gy (B) have been
€©) has (D) has been

86. Honour your parents.

Here ‘honour’ isa/ an —

(A) adjective ' \B) verb |
(C) noun - (D) adverb
B7. AtPufl 3 icha b quite rough.
(A) sea | (B) asea
(C) the sea | (D) seas
88. We__ on the platform since three o’clock.
(A) waited _ (BY have been waiting
(C) are waiting ‘ (D) were waiting j

89. Which of the following is grammatically correct ?

i

(A) Alas ! my friend is dead (B) Alas ! my friend is dead !
4 (C) Alas, — my friend is dead (D) Alas, my friend is dead ?q
90. He wanted
(A) me to speak in the meeting
(B) me speaking in the meeting.
(C) thatI should speak in the meetiﬁg
(D) me that I should be speaking in the meecting

SET-B [42]
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91.

92.

93.
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w68l 81 SR 2IRiIea ogge age
RQ 6AAINTA 601693Q F1a @8
ANISEQ QARG 6267 63 0gEa 1A
SRS AA] 360° | 92 986 Faaq
699 Q88 9oIag ?

(A) 2leqIgt

(B) 2esquet

(C) QWgasI9e

(D) Q6cgasiae

60 AT 9§ Q6% 7

(A) 98 Qe

(B) QAI9R gRIQ

| (C) QevIgey 9@

(D) 66172 gRIQ

&6 dR9Q FONYE QXY AU
Q06 QIR A6 ?

(A) 9&0 ANNEQ A 2R Faa!

(B) Qo 0Qd06e ala@@ RI0Q
Q6aIo @RSl

(-O)/aéﬁ@ Jge 9o 2ige QF @ad

(D) 6nsog oael @oRIsa @ QR
=l

1,

92.

93,

[43]
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A student constructing different
types of quadrilaterals and mea-
suring their angles came to the
conclusion that the sum of the
angles of a quadrilateral is 360°
What method of learning does it
indicate ?

(A) Inductive

(B) Deductive

(C) Analytic

(D) Synthetic

Which 1s not an ObjeCtIVC type of
question ?

(A) Restricted answer type
(B) Completion type

(C) True-false type

(D) Matching type

Which one of the following
objectives of learning Mathematics
is an affective objective ?

(A) Acquiring knowledge of
Mathematical facts

(B) Applying Mathematical
knowledge in new situation

(C) Developing interest in
Mathematical learning

(D) Developing skill in interpret-
ing graph

(Turn over)
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ade FaIae aIf 9e JéIRt 6aa
olites 0q auea adYede ?

(A) 9 Baa

(B) @naigq

(C) F6aaRR
(D) 6gI6eR
SUIT0R QCAIe 9EARe gaIea

FRIAS A9 JHIG8 681 UG LD
PR ?

(A) L6q§VE

(B) <6484

(€ aaa 2°64u8 8 F64TE
(D) <AIRE g 6F9TE g%

cOITN §Q1 691IRSg QI 9R% A&-
cOINGEQ 0REIS ARIT6A Fnelal 2R -
COINTQLQ IR AT 6AGTR AL
e 6QIRea g3 6AGTRA QLIS
6966 ? -

(A) 1:2
(B)_ 2:1
() 2i3

@) 3:2

QREAHER 60 JRIQ 98 QA

Q2Igeq 9o0 QAU ?
(A) <Qusia

B) qeewl
(C) 2a89®

@y s

94.

93

96.

9%
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Project Method of teaching
Mathematics 18 based on the
theory of which Philosopher ?
(A) John Dewy

(B) Kil Patrik

(C) Stevenson

(D) Froebel

What teaching method is mainly
used for proving a geometrical
theorem ?

(A) Synthetic

(B) Analytic

(C) Both Synthetic and Analytic
(D) None of these

A solid sphere was cut into two

hemispheres. What is the ratio
between the total surface area of

both the hemispheres taken

together and the surface area of
the original sphere ?

(A) 1:2
B) 2:1
) 2:3
(D) 3:2

What kind of figure represents the
data in a pie-chart 9

(A) Segment

(B) Sector

(C) Semi-circle

(D) Chord

(Continued)
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Banana |Orange |Mango (Apple Stra\»v-l
' berries

10 25 35 30 15

In the above table some kinds of
fruits and their numbers are given.
To draw a pictograph for the data
how many fruits in maximum can
be taken as unit to make the work
convenient ?

(A) 35
(B) 20
(C) 10
D) 5

Production (in tons)
—— PP L
SLownouLk
=lelelele)le]

1998 '199‘9 2000 2001 2002
Year

As per the above graph produc-
tion in the year 2001 is more than
the production in 1998 by what
per cent ?

(A) 150’
(B) 100

(© 50

| S0 | 2R | ee [ Ag || 98-
10 | 25 {35 | 30 | 15
QIEUD AINEI1EQ CREOR TRA QIF 8
6QQeRa AT AN | 12 ARG
IR 7R IR TeERS edInRig 626m,
dIEREN6Q 626010 TRG 1R 96d
6091 gRUIPER 629 ?
(A) 35
(B) 20
(C) 10
D) 5
700 99,
650
~— 600
g’ ggg ............................... VT Rt
! § gég ..............................
G 300 ;
S o l‘l H
& 150
100
7 1998 1999 2000 2001 2002
ohe @8
QUEAIB EASEG 2gaIal 2001 ARAZIR
QYR 1998 QKIQ @QIN0IQ 6!
6R60 2 ?
(A) 150
(B) 100
(€y 50
(D) 25
[45]

(D) 25
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(D) <AIRE OIQ 69% geg

IRl 9g-1 @ ag&l ng 659
9g-11 69 291 RIRINER 60w A
Qde ?

20

15185 |30 25150 |20

23 15

oe-1 og-1I
(A) 15
(B) 20
(C) 25

D) 30

ode 389 aIa ‘it a8’ ag saga | 101.

ARG Q6L ?
(A) g6 dBIg1 AQe Qe

(B) g6c4@ G918 QIIFIER °d
928 KT

(C) g6a4e FRIEH 2190 AT 908

(D) Saesa QIdiaIa 91d Ainalg

604 696 TFR F6ETE TT0 eyaaiq | 102.

@G ?
(&) 2819Q 810 JVQUR QI
(B) <99I1Q 293®13a gaie aig

(C) S91KIRQR AYQ AR QI

[46]

160. Taken Figure-I as the

OTET-P-1/13-11

sample

which No. can be placed in the
blank space of Figure-II ?

20
15|85]30| |25]|50]20

25 [,

i

Fig-I Fig-II

(A) 15
(B) 20
(C) 25
(D) 30

Which of the following is

not associated with activity

based learning approach of

Mathematics ? ‘

(A) Each learner remains active

(B) Each learner participates in
the activity

(C) Eachlearner enjoys pleasure

(D) The teacher’s workload is
reduced

Analytic methodiis used by the

teacher in which of the following

cases ?

(A) To teach known ¢
unknown o

B) To establish conclusion from
hypothesis

()

Presentation of kn

owan t
(D) None Of the abOV .aC

c

fCOH.ﬁnnnfn .
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103. 644169 69668 F8I181 aqImIcq
g4 1
57 12 989 sagen oLl

JRIQFER RAQA PUA FAILIRAIER ?

(A) 6419 FARNER AR B LA YA
RIS

(B) Q029 QQIreQ 6Q19a A4l
6QQl

(C) R.Q1.g Fda JQ1 69<
(D) QU6QI8 AN AT

QTHICAMIER QY T KaQ AIR
IR FERIS F1IQ 6K IR
QI QARIQ ?

104.

(A) QHIICAS A°ARER IS

(B) QaI6as! @6Q QL 644

| (C) Qeaileas aaea adiae 6
| UFIAR

(DY egeais a3

F60I8 694 QIdY QIR G81C AI0IY8R

105.
T Q4eTIQ FRQI9 2RSS fa 7

(A) FREAINER QETE
 (B) 9809998 eqQl 99%
(©) ésam@'anoqeﬂleegq@

(D) ey @84 oo cé6ie d8IQIRa
raegae

SET-B
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103. In an examination some students

3 4
l‘ ey, ‘*__- -_——: . I
an.swcrcd st 0 Jow can
this type of errors be eleminated

by teaching ?
(A)

Teaching the role of numera-
tor and denominator

Addition of fractions having
equal denominators

(B)

Teaching to find L.C.M. of
numbers

(©)

(D) All of the above method

For identifying numbers on the
number line, the learners should
have knowledge of which of the
following ?

(A) Knowledge about the number

line
(B) Taking the origin on the
(€)

104.

number line

Positive and negative direc-
tions on the number line

(D) All of the above

In which of the following cases
use of Mathematics text-book is
not required ?

(A) Self-learning of learners

(B) Drawing blue-print for
preparing mathematics
question paper

Lesson planning by teachers
Correlating Mathematics
teaching with other subjects

105.

(©)
(D)

(Turn over)
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5 qe | 9@ 26 21ra 9g1 900 g€

@4, 6969 36 696 Y&° 43 2R 99T

¢18l 6@6e i1 7 r & o
(A) 2100 Y Ta
(B) 2550 AE@F"}

(C) 2700

(D) 3825

107. 6al6N anaqiaia cinigea aea | 107
YA GERIR QIga 6Qal 2 & casm
\92l6Q 2T 69416Q 668 MSQ I

UG ?

(A) 4000
(B) 6000
(€) 8000
(D) 10000 .

108. B6rI9 0g6R 696N qelogg gae 2iae | 108.
 0g6Q UREIe fALIAR | 98 KGOS
¥ gada aBQiria A 54 6.8 g9,
606@ Q0IPGER AR 6063 6Q.51. 7

(A) 40
(B) 36
(C) 32

(D) 28
SET-B
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3

. i 0 1S = timeg
106. 6aien 2R 99 6916« 6266 9gea | 106. The mass o @ FRangOinTy S

of the mass of an apple. If the
mass of two mangoes is 900 gm,
then what is the mass in gm of
3 apples and 4 mangoes taken
together ?

(A) 2100
(B) 2550
(C) 2700
(D) 3825

The length of each of the internal
sides of an open tank 1s 2m.

* What is the maximum volume of

water in litre it can hold ?

(A) 4000

(B) 6000

(C) 8000

(D) 10000

In the given figure below a squart
has been divided into two
rectangles. If the sum of the

perimeters of the two rectangles

is 54 cm, what is the perlmeter of
the square in cm 9

(A) 40
B) 36 ;{5{5‘" A 1
(€) 32 4]

D) 28
/anﬂ'ﬂﬂe‘f
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109,

110.

6‘61!@% UIACEQR 69T QLR 6Ty
S €1 14219 o4 ageq ARG QEenga
es*igem 169 @4 & egen AUIXASCRGHR
JeQIA 6Q60 foq o

(A) 36
(B) 50

€y 34

(D) 30

12 o @9, 9 dea g9 6 8 dga
ARG TEIY IR 6RIONER AR 6260
J9Q ANQ Y@ QI QEaIRe ?

(A) 1289

(B)
(Cy 17 89Q

—_—

13 q1e'Q

(D) 298@9Q

111. 9@ 6@60IC o7ae B&| Qo 28

QIgIa e9eea AN] 9 9e° 2egeq
BRI GF6Q EMEEM QA°GHIC QQER

Q@ ?

() 18

B) 9 -
(C) 8 .

®) 4

SET-B
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109. The length of one of the sides of

110.

UL

[49 ]

arcctangle is S metre. If the area
ol the square constructed on its
diagonal is 169 sq. cm., then what
1s the perimeter of the rectangle
in metre ?

(A) 36 ?.Q’
(B) 50
(C) 34
(D) 30

What is the maximum length of a
straight rod which can be kept in
aroom of length 12 metre, breadh
9 metre and height 8 metre ?

(A) 12m
(B) 13m
(C) 1I7m
D) 29m

How many three digit numbers
are there in which the sum of the
digits is 9 and the number doesn’t
change on writing the digits in the
reverse order ?

(A) 18 AU .
Q‘q 4 9 Z)l’ )

(B) 2 354

(C) 8 (L2

(D) 4

(Turn over)
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987 QENIGEER 3 § 6TGIE GQ FImEM
699Q 69% A°GY QRR ?

(A 0

—

(B)

o

(©)

D) 3

Qa8 a'gya zgaie 5:6 wae | 113

6ANINTR 0.Q1.G. 4 | 6669 6QAARTR
Q.QIg. 6966 ?

(A) 90
(B) 100

120

(D) 150

QAN 6 99 20% QFIKIN 6069 QIR
CRAGTR J00%! 6REC G [ @7 ?
(A) 4% Q%

By 4% efe

(C) 1%@ege

(D) 1% @fe

[50]
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112. 1f 3 1s subtracted successively

from 987, then what will be the

last number left ?
(A) 0
(B) 1
(C) 2
@) 3

Two numbers are in the ratio 5 e
and their H.C.F. is 4. What is their

L.C.M. ?
(A) 90
(B) 100

(C) 120

Dy 150

Q% 6915 2INeTga 694 20% | 114.

'If the length of a rectangle is
%ncreased by 20% and its breadh
1s decreased by 20%, then by

what per cent wil] its area increase
or decrease ? o/

§ A
(A) 4% increase & g,
A

(B) 4% decrease ‘;Z? .
(€Y 1% increage

(D) 1% dCCI‘CaSe

(Continued)
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115.

116.

114,

(A) 0.678% “ D
9% ¥ N

(B) 0.689 o o0

(C) 0.6878

(B 0.687

Techofworld.in

0.34 4+ 0.34 @ 9y gaeo ?

UG ARG 560 8.5.1 Qg Q96
70 @.6. 6996Q 67 9929l 66IEN
690 goig 9.30 a.m. SIBR | QIFEQ
6FANIFTER 67115 QRE 29y 2 Q.
20 0G 621Q2U6A 6500 6REERER
NROI6Q LB ?

G
7,
(A) 6.50am.  L°
.

(B) 6.50 p.m. N

%
(C) 7.50 a.m.
(®Y 7.50 p.m.

2019 696 68660 £ ABC @ 90Qaa
6RIEQ 2RYAR 6RI6 ARSI AAR
Q6% ?

(AY 0° <mZABC < 80° é{
| )
(B) 90°<m/ABC = 115°

(C) 100° < mZABC < 130°

(D) 120° <mZABC < 160°

SET-B
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115. What is the value of 034 -+ 0.34 ?

116.

(A) 0.6788
(B) 0.689
(C) 0.6878

(D) 0.687

The distance between Puri and
Kolkata is 560 km. A train run-
ning at a speed of 70 km per hour,
left Puri at 9.30 a.m. If it stopped
at stations on the way for 2 hours
and 30 minutes in total then at what
time did it reach Kolkata ?

(A) 6.50 a.m.

(B) 6.50 p.m.

- (C) 7.50 a.m.

117,

151]

(D) 7.50 p.m.

[n which of the following cases it
is not possible to get the comple-
mentary of the supplementary

angle of ZABC?

(A) 0°<m/ZABC < 80°
(B) 90°<m/ZABC < 115°
(C) 100°<mZABC < 130°
(D) 120°<mZABC =< 160°

(Turn over)
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118. In the given figure belo

118. Q618 6g6q LA, /B, /C, ZD,
ZE, ZF @ Q@ai9q Q98 6969
@91 ?

(A) 300 A
(B) 180 F /\ B
©) 72 EX ><

\D/ C

119. ABCD aifig@e 8g6q m LA : | 119.

mZB=3:2,606em/C-mzZD
= ?

(A) 1°
(B) 36°
(C) 72°

@7 108°

120. 398 6@a 2ga 6Mad gdan a8 |120.

Q@ ?

(A) <clog ' ;__(A) Square

(B) 2i9e9g

() Qrede g

(D) arq
SET-B [52]
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w wihiat is

of the measures in degree

the sum
onA,ZB,LC,ZD,éE,ZF?_

| A
(A) 300

A e,

® 180 N 7.E
(C) -72 E S C
(D) 360 D

In the parallelogram ABCD if
mZA :m/ZB=3:2, then what is

m/ZC-m/ZD= ?

@A) 1°
B) 360
(C) 72°
(D) 108°

Whi.ch of the following figures has
no hl’lﬁ of Symmetry ?

- (B) Rectangle

(9 Parallelogram

(Continued)
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121, QI06R 98 SVL6Q FRIQG a0 e

122.

L2s.

124.

SRR 68619263 99 37 IG0g gade
@EM | ML AINTET 699 gRlaa ?
(A) Q-

(B) Qigoe

(©r caveRe

(D) gaieee

Qe IR0Q 6% 6QIUIF VEIIG IRE
Yo QIR 6998 6QISIREN ?

(A) GRuILR
(B) QIR0S!
(C) ead Adea

(D) 6QIea! 9ge

cQIEN FIRGe6a QAG [Ie AUER
Qael 2 62.4. | 6Q@ F1REGA CIl.9.
| 15,00,000 6267 @9 2I¢ AR

Qf QUeQ gee e 6@6e ?
(A) 1.5@.48.
(B) 3.0 @.9.
(C) 15.0@.4.
@7 30.0@.4.

2/1IQ0 7

(M qr0Ia F6RLINAE
(B) SAGIQ 6@GIRAS
(C) 210l ?J@Q'ﬁ‘"

(D) 1E-q8e! ol

| 83 ]

~nr R

QIRI9 QIR 196 674 8l 6Q AIER

121. A teacher demonstrated an indus-

trial map in the class 1o teach
about the industrics in India. What
type of map is it ?

(A) Topographical

(B) Physical

(C) Thematic

(D) Administrative

. Which stage of project prepara-

tion does inspire to take up
future projects ?

(A) Evaluation

(B) Functionality

(C) Recording facts

(D) Project planning

. The distance between two places

on the map is 2 cm. If the R.F. of
the map is 1 : 15,00,000, what 1s
the ground distance between the
two places ?

(A) 1.5km

(B) 3.0km

(C) 15.0km

(D) 30.0 km

. On which principle is the local

self-government based ?

(A) Decentralization of power

(B) Centralization of power

(C) Economic growth

(D) Maintenance of Law and
Order

(Turn over)
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whom do€s the President

- 5. From : i

125. QR e 28R AFIY qigo1g | 12 seek judimal and legal 0p1n101‘.1 as

ik, 21RGS0 A Sael's per the provision of the. Constity-
tion?

e a01e0@ ;
iy e SRR (A) Chief Justice of the Supreme

(B) qQuiena! Court

(C) 2ISE 67699IR (B) Prime Minister
(C) Attorney General
e e (D) Solicitor General

A ' incorrect pair out :
126. R 6Q1G5G QIS : 126. Find the 1 p

(A) ?Ji@gseé - 6QlIRIeRN GERISGH (A) Andhra Pradesh — Godavari

delta
693/59@9 - Q81 QeREYL (B) Kerala— Krishna delta
(C) 6@al - ATaT FERITQA (C) Odisha— Mahaﬁédi delta
(D) SRR - FIEQQ1 @emaﬁlﬁ (D) Tamil Nady — Kav.eri delta

127. Q10eQ 9Igeiee ealgal Qiggele | 127,
QRR9R 20gM SAQI §IQ 674 Gag
QEaNg ?

What is the direction of the
iu@mer monsoon blowing over
ndia before crossing the

o < €quator ? ¥
@e,)/@muq_e

(A) South-
(B) oRe-ode R

B) SOuth_We i

(C) o4 _
(C) South
D) Qf¢ )
D) ©) Woas
SET-B 541
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128. 62Q% RS I°QEaq bt

A) 128. Which is contrary to soil consct
6QIAIR QY vation ?
(B) Qieiede e (A) Terrace cultivation |
(C) efeqd (B) Shifting cultivation
A~ (C) Afforestation
Mw Q?Sﬁ‘m%)@ . (D) Reforestation |
129. 669 9996 691551 asasa, QI6aat | 129. Which hydel project is function-
Q1 QU6Q AINIRIQT 6208 ? ing on the river Kaveri in
(A) 69199 - Karnataka ? ’
= (A) Metur
B) €94
(B) e (B) Sivasamudram
(C) gedlan (C) Shrisailam
(D) gerag! (D) Tungabhadra
130. ‘@’ gaca 29l g6 |le 4% 130. Match the industries in Column
‘¢’ 9ag ARee d8g 6aIG O K8 ‘B’ with associated places in
ANeQ QI : Column ‘A’ and select the correct
‘o’ g ‘o’ g9f answer set :
Column ‘A’ Column ‘B’
(a) Q& (1) 69w 52@9 (2) Ranchi () Locomotives
(b) Qeisigieal (i) G IS (b) Vishakhapatnam (i) Tankmaking
(c) 219@ (i) eqlea 2l (c) Avdi (i) Motor car
(d)saeme (V) 6@@‘*? oL] (d) Chittaranjan  (iv) Heavy
A e
Electricals
(v) @i2ie @l ) ‘Shipbuikding
A) (@) - (@) (0) - O @ -G | (A) (@ -(iv); (b) - (v); (©) - (i
(d)- (1) (d) - (i)
(B) (a) - (iv); (b) - (v); (c) - (11); B) (a)- (%V); (b) - (v); (¢) - (i1);
(d) - () (d)- @)
(C) (a) - (iid); (b) - (v); (&) - (i1); (€) (a) - (111); (b) - (v); (c) - (ii);
d)- () (@-()
@ (9 )~ (-] O @ (1v); (b) - (V)3 (©) - G
d)- (iif) (d) - (iii) .
| [55] (Turn over)
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: icipate from Odish;

Sqeea Gosigeed | 131. Whodid partic1pa Revolt ;
131. 1857 @ueea ﬂ@l@iq%‘;@? : in the Great Indian olt of
Q°gIAN 2°GGRE RN

18577

() e% eaeq (A) BuxiJagabandhu

(B) ¢da doe (B) Kuanr Singh

(;(%165’@ R (C) Surendra Sai

(D) g4 Qe (D) Laxman Nayak

132. g2n Q998 06 Q'eas 99Ia 694 | 132. To which Indian did the British |

NG “QIRFA-2-2Q" QUINER Government adorn with the title

980 @aelem ? | “Kaizar-i-Hind” after the First
World War ?

MQIQI Sy

(B) @Q2aqif 69629

(A) 'Mahatma Gandhj

(B) Jawaharlal Nehru

C) QAR VNN TETR
(&) i\ (C) Sardar Ballabhbhaj Patel

D) qeqQ aql @fl
(D) ) (D) Muhammad Ali Jinnah

133. 676 2IRR6Q 9I695R YIeRY QIn el | 133, In which Act Wwas there the pro-
a2 vision for provincia| autonomy ?

(A) QI0edq 2IQ 1892 (A) Councils Act, 139,

| (B) @eQ 4198 2i1aq 1905 (B) Govt, of India Act 1905I

‘((‘/)/arae 419e 2IRR 1935 (C) Govt, of India Act, 1935

(D) Q}@QQ@ EHQ 1909 (I)) COuncil ACt, 1909

SET-B ' [56]
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134, @161 qidy A0 g
Q6L 9
(A) IRQQe @ % AURAGCA R
(B) Qe axeg QAR QI

(€)Y 8R4l Qearasg o AR AR

(D) 6RY< An06a ae JREQ AR

135. QERIQ 2INNIER ‘Qea’a Qaeaia | 135,
20 AINUINR ARG [AIAN Q@ 2

(A) 2160 Q84619 CBFIE 21048 @9
(B) 21 AIINER 950 Q56 QCRIge

(Y <2l ag6q \Weeide a6y e@elN

QYS!

0QQ)

@A

. (D) 92l 96y ARG
136. 6996 A0 QIF Q6w ?
(A) <ERQ
(B) Q%699
(C) Q@

(D) 699

137. €1 0.25 @o€ime @ clae eaIg gig | 137.
150 cm @019 06 8 @d6a Qg |
g 6956Q QARG RIMY 676G g

cee ? (gxlo m/sz)
(A) 375

(B) 375
(C) 3750

SET-B

QU6QIB (1Y 6Rl63dG ge%

o 0885 oq

[57]
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Which is not correct method in

black-board work ?

(A) Teacher to write down In
bold-lctters clearly

(B) To maintain equal distance
between lines

(C) To erasc quickly without
reading

(D) To read loudly at the time of
writing

Why is the use of myth done with

utmost care in the teaching of

history ?

(A) There is little truth in it

(B) Actual facts are presented
through it

(C) There is historical truth
behind it

(D) It is based on truth

Which one is not a vector
quantity ?

(A) Velocity

(B). Momentum

(C) Acceleration

(D) Speed

Madhu kept a rice bag of 0.25
quintal on his head lifting it
150 cm from the ground. How

much joule of work is done in this
case ? (g=10 m/s?)

(A) 37.5

(B) 375

(C) 3750

(D) None of the above

(Turn over)
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of matter does

. " . - t
138, geida 6ea g4 YLIa 2eal aaex | 138. Which property ket

@) @ oD n its s
PRe @6Q Qle ? not depend 0O
(A) Volume

(A) 206K .
(B) QIgel (B) Density
© <gq | (C) Mass
> D) Shape
Oy 290 ( | N .
139. (a) giaeq qiee anie ag e | 139 @ P lastics are 2 gift to PRI
' : (b) Plastics are a curse to man-
QI 26T | | feipd. . |
(b) Q8RQ QIR AR AR IR (c) Puttingthe plastics wastes in
2@SIY 26T | a pit and covering it by soil

is an environment-friendly

(c) 2eemial §/deq ANFIFRs step instead of burning those

60/EQ CORER FITER 6CIG 694l

& wastes.
QQEe-2Qem JGCRd 2eE' | (A) (a) and (b) are correct and
a) @ (b) 0% 9&° (c (c) is wrong .
W (@) ﬁ'( )R _( )R (B) (a) is correct and (b) and (c)
(B) fa)0q e (b)C (c)am are wrong
(a) 6 (c) O &° (b) AR (C) (a) gnd (c) are correct and
4 ; (b) is wrong
(D) (a), (b) 8 (c) OR (D) (a), (b) and (c) are correct
140. (2) 219 gg1a Qigea g8 adeiaq | 140- @) The air we breathe-in
B6RIQ 2 | contains traces of ozone.

(b) The oxides of nitrogen

b) QIQEQ 2&QI R RECLIERR, , :
( @ present in the air cause the

2RAREYLR ¢, ATIQ KIS acid rain
26T | () The oxides of sulphur
(c) QYA 2SI ANTQ AL present in the air cause
267169187 8 9221’ | @) ?a)mage to the haemoglobin.
_ a) 1S ¢
(A) (a) OR & (b) 6 (c) QM are wroorf;eCt "dLp) and el
—~ B 1
@BJ (b) 0] 9e° (¢) 8 (2) R . 22 if,;;’#‘rect and (c) and (a)
— 1 ng
(©) (c)0)<e ()8 (b)gR (©) (¢) is correct and (a) and (b)
are
©) (@, ()8 ®) (a), (by a

(a)a (b) and
SET-B (58] (€) are wrong

(Continued)




141.

142.

143.

144.

69Q A4 QIqy qHIeR QuFea ?
(A) 28l NERITRQ

(B) 28a ienqq

(Q/qna NERITRY

(D) e Queneq

2IFl 99109 609 ATeq Qa2 B2
49 ?

(A) Qu@
(B g0
(C) eagm
(D) aQui€e

6RRE F1IGQ 9A1R6Q 2IAR AGRT QS
Q6Q ?

(A) 640Q1Q
(B) 6924iQ
(C) QiQi

(%QQIQ

cad 6QIER gE6R S1R AEFRAR]
Q6a QaIand Qg ?

(A) ML

(B'f/ 6QIG

(C) ©oIeq
(D) @aeead

141.

142.

143.

144,

[59]
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Malaria spreads by which
mosquito ?

(A) Male Anopheles

(B) Male Culex

(C) Female Anopheles

(D) Female Culex

In which organ of our body urea
is formed ?

(A) Kidney
(B) Liver
(C) Nephron

(D) Pancreas

Which one maintains the ionic
balance in the human body ?

(A) Carbohydrate
(B) Fat

(C) Protein

(D) Minerals

Preventive vaccine of which
disease is not given as injection ?

(A) Whoqping cough

(B) Polio

(C) Tetanus
(D) Diphtheria

(Turn over)
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Tha |11t 9
= <, 145. Which one does not have satellite?
145. 6@99Q QUGE QL

(A) @ (A) Mars

@) (B) Mercury
(Cy 6@ . (©) Saturn
(D) Qae® | (D) Jupiter

Which of the following could be
theme-based subject-matter for
Environmental studies ?

146. 0R6Q4 2U0Q QIR F67IP g 674 | 1406.
QV0RY af-@@« (theme-based)
621QAIQ ?

(A) 66QIR SR (A) Ozone hole

(B) Acidrain

(B) 2698
) ig 9988 (C) Airpollution
(D) @aeqis ang (D) All the above

147. 0568 Q°a@e geym 2990 @6eqie |147. In which of the following

ARIQ 699 IRTER AR ? methods there is possibility of
direct experience 9 '

(A) Q68
(A) Survey

(m 691G URYNE -
(B) Fleld-trlp

C) 9<%
e (C) Project
m/ageala ang

(D) All the abovye

SET-B [60]
' . (Continued)
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149.

150.

@) Qgee U6 Angg; VARG
Q?!@QIGQGQ AP 9564
496 A9-9ag QA @Q AQIAR

QA0 |

(b) Qade adsey AN VARG
JLIRQACER QIgoR atees 9ae
Qf—gﬂ@ AV @A ARIAL|
QG |

(A) (a) @ 2Iesqel 23 wg° (b) @
2INRG! RIS

(B) (b) @ 2ieduasl 28 e (a) @

m/xs@«m@m Qg
) QU (a) 99° (b) Q 2IENRE!
2P

(D) aiia (a) 99° (b) @ edyae!
QI

RIQ AVIAF-EVE AINGIER T6D

C12iQ 600 2IFHYR 62IR 2N ?

Mq@gm JRUIDG

(B) QQI00@@ gmiIas

(C) G0REe JRYIAE

(D) Qiage gilaa |

qGced 2uae A0ae adieand

aaGa §01IQH 6QITIRgRR 6208 -

L]

" (A) adisena, o2 F6§34, o2

SET-B

Qge 8 NS

B cay 299, adyeasd, oad
S6qa8 6 A|IS

(Q’)/éfa‘qe@saa, ooy Q°ga, o
2cqeé 6 AT

(D) @U6QIs c2iq 663G g6%

148.

149.

150.

[61]
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(a) While teaching about the

natural environment correla-
tion is to be established with
the social environment.
While teaching about the
social environment correla-
tion is to be established with
the natural environment.

(a) is essential and (b) is not
essential

(b) is essential and (a) is not
essential

Both (a) and (b) are
essential '
Both (a) and (b) are not
essential

Which one of the following is not
required in the teaching-learning
process of science ?

(A) Placement evaluation

(B) Diagnostic evaluation

(C) Formative evaluation

(D) Summative evaluation

The sequential steps of observa-
tion-method relating to Environ-
mental studies are —

(A) Observation, analysis of
data, collection of data and
inference

Collection of data, observa-
tion, analysis of data and
inference

Observation, collection of
data, analysis of data and
inference

(D) None of the above

(Turn over)
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